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What are they talking about?

What are the two speakers discussing?

What’s the main topic of the story?
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(D B} fa] : What time is it now?

When will the plane arrive?
How long does the man have to walk every day?

@ #5#% . How often does Sue go to the cinema?
@ Hi A5 . Where does this conversation take place?



Where are the two speakers?
Where is the conversation taking place?
Where do they want to go next week?
@ APy BOLFE 65 -
Who lost the ticket?
What does the man do?
What’s the man’s job?
Who is the man?
® JE : Why didn’t the boy want to eat anything?
For what purpose did he invite Mary?
What is the reason for her leaving for New York?
® % : How many students have passed the test?
@ #r#% : How much does the woman have 10 pay for the dress?
What's the price of the bicycle?
How much a pound are the oranges?
3)MFUETE A T S B B S BT A 2 T 4 56 ZR S A AT P
XPRIE A 5 MR SRS & Z 8] 5C RS 7 I BE AT HE SRR BE T, W] LA RO i
BN IRE AR, WA RS T HE g, RS 2
o ABGX AR B A T AW B A 4o IR T AT
What does the man mean?
What is the most probable result of the conversation?
What can we leamn from what the speaker said?
What does the man imply?
What can we conclude from the conversation?
What can we learn from the story?
How will Mary solve this problem?
What is David going to do?
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Does Peter agree with the woman?
What does the woman think of the doctor?
What does the man mean?
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How much is the shirt?

A. £ 19.15. B. £ 9.15. C. £ 9.18.

1. What is David going to do?
A. Catch a train home. B. Do his homework. C. Go to a park.
2. Where are the two speakers?
A. In a restaurant. B. On a farm. C. At the man’s home.
3. How much a pound are the oranges?
A. 6 cents. B. 16 cents. C. 60 cents.
4. What is the man going to do?
A. Run to the airport. B. Wait for another bus. C. Hurry to get the next bus.
5. What are the two speakers doing?
A. Walking down a hill. B. Climbing stairs. C. Discussing a trip.
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6. What will the man do in the evening?

A. Go to London. B. Meet somebody. C. See the woman again.
7. Where are the speakers?

A. In the street. B. In a hotel. C. In a taxi.
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8. Why does the woman make the telephone call?
A. She wants to know more about the club.
B. She hopes to find a job in Washington.
C. She plans to go to evening classes.
9.What do the members do on Thursday evening?
A. They have sports.
B. They have language classes.
C. They have dinner together.
10. What language does the woman speak besides English?
A. Spanish. B. French. C. Itahan.
11. Why docs the man ask the woman for her name and address?
A. He wants to send her a form.
B. He intends to visit her.

C. He would like to know more about her.

e 8 BRRL, MISR 12~ 13
12. What are the speakers talking about?

A. Flight timetable . B. The way to Union Street. C. Hiring a taxi.
13. Where is the woman going on Saturday?

A. Garden Hotel. B. The airport. C. The taxi company.

Wr s 9 BebhRL, &5 14 ~ 16
14. What will Mary’s mother receive for her birthday?
A. A shirt. B. A skirt. C. A plate.
15.Who'll cook the special dinner?
A. Mary. B. Mary’s friend. C. Mary's mother.
16. Who will do the shopping?
A. Mary’s father and mother. B. Mary and her mother. C. Mary and her father.

Wrefy 10 Bebp R, Il 546 17 ~ 20 4.
17. Where did the fire probably start?

A. On the first floor. B. On the second floor. C. On the third floor.
18. When was the building built?

A. In 1718. B. In 1782. C. In 1930.
19. What was the building used as at the time of the fire?

A. A hotel. B. An old people’s home. C. A history museum.
20.Who is Andrew Barnes?

A. A newspaper reporter.

B. The owner of the building.

C. The head of the fire department.
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How much is the shirt?
A. £ 19.15. B. £ 9.15. C. £ 9.18.

1. Where are the two speakers?
A. In a department store.
B. In a clothes factory.
C. On a playground.
2. What time does the train leave?
A. At6:15. B. At 6:25. C. At 6:50.
3. What are the two speakers doing?
A. Enjoying meeting each other.
B. Saying good-bye to each other.
C. Planing to see each other again.
4. What’s the man doing?
A. He’s working in a hotel.
B. He’s visiting a young couple.
C. He’s travelling around .
5. When should Susan go to meet Professor Brown?
A. At 10:00. B. At 10:30. C. At 11:00.

SEAT(H 15 /DR /N 1.5 48 TS 22.548)

Wi S B E S E . SERXESMAEA LN /NE, NIRRT H AB.C =4
P P e HH IR AR T, IFARAE RS MDA B . IR B S B BT, AR A B ) e 4
AN, /AN S BB TSRS, B/ NBU A B 5 BBhROAES I IR] . 4 B E B i
o



WS 6 BRPAL, A4 6~ 8 AL
6. Where does this conversation take place?
A. At a booking office. B. At a museum. C. In a record store.
7.0n which day will the Japanese Music Concert be held?
A. The 28th. B. The 30th. C. The 15th.
8.How does the man pay for the tickets?
A. By credit card. B. With U.S. dollars. C. By cheque.

VTS 7 BeARRE, BB 9~ 11 L,
9. Where is the woman going?
A. Bridge Street. B. The cinema. C. The station.
10. Where is the cinema?
A. On the comer of Bridge Street.
B. Next to the station.
C. On Station Street.
11. Which turning shouid the woman take on Bridge Street?
A. The first on the right. B. The first on the left. C. The second on the left.

WTeR 8 Brbbal, EIEHE 12 ~ 14 B
12. Who are the two speakers?
A. A man and his wife.
B. A man and his sister.
C. A man and his girlfriend.
13. Why is the man unhappy about their weekends?
A. They seldom invite friends over.
B. They seldom go out for a picnic.
C. They seldom spend the weekends together.
14.In which aspect of the picnic do the man and woman differ?
A. Who should get the car ready.
B. How many friends they should invite.
C. What food and drink they should prepare.

Wre 9 Bobhrl, Wl 58 15 ~ 17 &L,
. 15.What is Mary’s plan for Saturday?
A. Visit her mother.
B. Cook dinner for Tom.
C. Ask John and his wife to dinner.
16. What does John say to Mary about the invitation?
A. He’s not free. B. He'll certainly go. C. He’s not sure.



17. What has John promised to do?
A. Phone back with an answer.
B. Persuade Jane to join him.
C. Visit Mary’s mother on Saturday .

WS 10 Bebr L, BIEFSS 18 ~ 20 R
18. Why are many roads closed in the north?
A. Because of heavy rain.
B. Because of strong winds.
C. Because of fallen stones from mountains.
19.In which part of the country have fifty houses been flooded?
A. In the south. B. In the north. C. In the east.
20. What happened in the west?
A. Many boats were missing.
B. Four people died in a river.

C. Two villages were under water.
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How much is the shirt?
A. £ 19.15. B. £ 9.15. C. £ 9.18.

1. Where did this conversation most probably take place?
A. At a concert. B. At a flower shop. C. At a restaurant.
2. What did Paul do this moming?
A. He had a history lesson.
B. He had a chemistry lesson.
C. He attended a meeting.
3. What can we learn about the man from the conversation?
A. He’s anxious to see his sister.
B. He wrote to his sister last month.
C. He’s expecting a letter from his sister.
4. At what time does the train to Leeds leave?
A. 3:00. B. 3:15. C. 5:00.
5. What is the man’s problem?
A. He can’t decide how to go.
B. He can’t drive himself.
C. He doesn’t like travelling by train.
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6. What is Sally doing?
A. Reading a letter. B. Washing clothes. C. Making a phone call.
7. Why does Tom ask Sally and John to call him?
A. He wants to meet them at the station.
B. He wants to invite them to dinner.
C. He wants them to visit his family.
8. What is Tom’s telephone number?
A. 680-6840. B. 780-6842. C. 780-7842.

Wrss 7 BOMRE IS 9~ 11 B
9.Why did Bob call Nancy?
A. To ask if she’s got the tickets.
B. To invite her out for an evening.
C. To offer his help with her new flat.
10. What will Nancy be doing next Saturday afternoon?
A. Waiching a tennis match.
B. Cleaning up the new flat.
C. Visiting a friend with Margaret.
11. What has Nancy agreed to do with Bob next Saturday?
A. To see a play. B. To attend a concert. C. To buy concert tickets.

WA 8 BURhRL, IS 12~ 14
12. Who are the speakers?
A. A passer-by and a policeman.
B. A passer-by and a driver.
C. A passenger and a taxi-driver.
13. What is the woman’s house number?
A. 1323, B.3023. C. 4023.
14. Why can’t the man turn left?
A. It is rush hour. B. It is a one-way street. C. The street is too narrow .

WSS 9 Bk, I A 15 ~ 17 B,
15. What did the man ask the woman to do?
A. To book a hotel room for him.
B. To meet an old friend of hers.
C. To pass a message to Mary.
16. What is the relationship between the two speakers?
A. Neighbours. B. Father and daughter. C. Husband and wife.



17. What is Mary probably doing?
A. Staying at a hotel.
B. Talking on the phone.
C. Chatting with her husband.

TSR 10 BObb R, 1A 18 ~ 20 R
18. Who is the speaker?
A. A student. B. A teacher. C. An office clerk.
19. Why did the speaker get a parking ticket?
A. His car was parked for too long.
B. His car took up too much space.
C. He left his car in a wrong place.
20. Which of the following words best describes the day the speaker had?
A. Exciting. B. Unlucky. C. Tiring.



